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THEORY OF EQUATIONS

Solved Problems

1. Form the polynomial equation of degree 3 whose roots are 2,3 and 6.

° Watch Video Solution

2. Find the relation between the roots and the coefficients of the cubic
equation .

323 — 1022 + 72 +10 = 0

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8QRe8RZE2uQO
https://dl.doubtnut.com/l/_Vtf2DgLyaWuv

3. Write down the relations between the roots and the coefficients of the
bi-quadratic equation

zt — 22 + 422 + 62— 21 =0

° Watch Video Solution

4.1f 12,3 and 4 are the roots of z* + az® + bz® + cz + d = 0, then find

the values of a,b,c and d.

° Watch Video Solution

5. If ab,c are roots of z® —pz®> + gz —r =0 and r % 0, then find

1 1
? + b_2 + g in terms of p,q,r.

° Watch Video Solution



https://dl.doubtnut.com/l/_Vtf2DgLyaWuv
https://dl.doubtnut.com/l/_OSPbPZzHBAgu
https://dl.doubtnut.com/l/_3CQqlu08gC7W
https://dl.doubtnut.com/l/_MJDcPrxhNgDN

6. Find the sum of the squares and the sum of the cubes of the roots of

3

the equations z” — par:2 + gr —r = 0in terms of p,q,r

° Watch Video Solution

7. Obtain the cubic equation, whose roots are the squares of the roots of
the equation,

m3+pla:2+p2m+p3:0

° Watch Video Solution

8. Let ,a, (3, v be the roots of

23 + px? + gz + r = 0. Then find the

apf + By + yo and afy

° Watch Video Solution



https://dl.doubtnut.com/l/_abJ1iulh4F5Y
https://dl.doubtnut.com/l/_rklbsui2GP46
https://dl.doubtnut.com/l/_AAESroTOCK4r

9. Let ,a, B3, v be the roots of 23 + pz? + gz + r = 0. Then find the

M) o

o Watch Video Solution

10. Let ,, A, 7y be the roots of 23 + pz? + gz + r = 0. Then find the

(i) Y é

o Watch Video Solution

11. Let ,, 3, -y be the roots of &3 + pz? + gz + r = 0. Then find the

(ii) Za3

o Watch Video Solution

12. Let ,a, B, v be the roots of z* + pz® + gz + 7 = 0. Then find the

(iv) > 8%’



https://dl.doubtnut.com/l/_YaW8NrBhlpBt
https://dl.doubtnut.com/l/_f39gQxA4CIzQ
https://dl.doubtnut.com/l/_f1GDqI017LTy
https://dl.doubtnut.com/l/_LeLHVxOBt1Qw

| &J Watch Video Solution I

13. Let ,a, B, v be the roots of
23 + px? + gz + r = 0. Then find the

W (a+B)(B+7)(v+a)

o Watch Video Solution

14. Leta, B, v be the roots of

22 + az? + bz + ¢ = 0then find Zoﬂﬂ + Za,B2.

o Watch Video Solution

15. If a, B,y are the roots of z® + pz® + gz + 7 =0, then form the

cubic equation whose roots are a(8 + v), B(v + @), v(a + B)

o Watch Video Solution



https://dl.doubtnut.com/l/_LeLHVxOBt1Qw
https://dl.doubtnut.com/l/_3XXEoSnHk3Hv
https://dl.doubtnut.com/l/_lSND8HdwWpn1
https://dl.doubtnut.com/l/_aOBlLPz6yELh
https://dl.doubtnut.com/l/_taDG3mkWLL2C

16.solve 2° — 322 — 16z + 48 = 0

o Watch Video Solution

17. Find the roots of z* — 162> + 8622 — 176z + 105 = 0

o Watch Video Solution

18.solve 23 — 72% + 36 = 0 given one root being twice the other .

o Watch Video Solution

19. Given that 2 is a root of 2° — 622 + 3z + 10 = 0 , find the other roots

o Watch Video Solution



https://dl.doubtnut.com/l/_taDG3mkWLL2C
https://dl.doubtnut.com/l/_2vBqI9uF36F7
https://dl.doubtnut.com/l/_vGrdLdpzKW0O
https://dl.doubtnut.com/l/_2zbG9WdNBKoT

20. Given that two roots of 4z + 20z% — 23z + 6 = 0 are equal,find all

the roots of the given equation .

° Watch Video Solution

21. Given that the sum of two roots of z* — 223 + 422 + 62 — 21 = O is

zero , find the roots of the equation .

° Watch Video Solution

22. Solve 4z% — 242% + 23z +18 =0 ,givne that the roots of this

equation are in arithmetic progression

° Watch Video Solution

23.solve 23 — 722 4+ 14z — 8 = 0 given that the roots are in geometric

progression.

| e |


https://dl.doubtnut.com/l/_d6UTNaxFRnXe
https://dl.doubtnut.com/l/_DGP8arkXw0Mv
https://dl.doubtnut.com/l/_Ej5dgOxrXZ1w
https://dl.doubtnut.com/l/_hptNubSDznB9

| & Watch Video Solution I

24.5olve z* — 5z + 52% + 5z — 6 = 0 given that the product of two of

its roots is 3

° Watch Video Solution

25.5olve 2% + 2% — 222 — 122 + 9 =0 , Given that it has two pairs of

equal roots .

° Watch Video Solution

26. Prove that the sum of any two of roots of the equation
et pd+ g +rz+s=0is equal to the sum of the remaining two

roots of the equation iff p® — 4dpg+ 8 = 0

° View Text Solution



https://dl.doubtnut.com/l/_hptNubSDznB9
https://dl.doubtnut.com/l/_OBqY33vQPOqN
https://dl.doubtnut.com/l/_ach2SVOqP30X
https://dl.doubtnut.com/l/_mzECjGwwFpdB
https://dl.doubtnut.com/l/_fo4mXAVq6HWf

27. Form the polynomial equation of degree 4 whose roots are

44 3,4—/3,2+1 and 2 — i

° Watch Video Solution

28. Solve 6z* — 1323 — 3522 — 2 + 3 = 0 given that one of its roots is

2+ /3

° Watch Video Solution

29. Find the polynomial equation of degree 4 whose roots are the

negatives of the roots of z* — 62® + 72> — 2z +1 =10

° Watch Video Solution

30. Find the algebraic equation of the degree 4 whose roots are 3 times

the roots of the equation . 6z* — 7z + 822 — 7Tz +2 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_fo4mXAVq6HWf
https://dl.doubtnut.com/l/_BRB3VRNfsagS
https://dl.doubtnut.com/l/_xUZv1fKhGvC5
https://dl.doubtnut.com/l/_Yfq7pGobtsVP

31. Form the equation whose roots are m times the roots of the equation

3, % 2 1 anddeduce th hen m =12
xr 4 ]_6 72 = an educe e case wnen m = .

° Watch Video Solution

32. Find the algebraic equation of degree 5 whose roots are the

translates of the roots of z° + 42> — z? + 11 = 0 by -3.

° Watch Video Solution

33. Find the algebraic equation of degree 4 whose roots are the
translates of the roots

4zt + 3223 4 8322 + 76z + 21 = O by 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_Yfq7pGobtsVP
https://dl.doubtnut.com/l/_tLbVNLGevyq7
https://dl.doubtnut.com/l/_EYmJ9WxxNQnK
https://dl.doubtnut.com/l/_32PkG7l5nFT2

34. Find the polynomial equation whose roots are the reciprocals of the
roots of the equation

2t + 323 —622+20 —4=0

° Watch Video Solution

35. Find the polynomial equation whose roots are the squares of the

rootsof z° — 22 + 8¢ — 6 = 0

° Watch Video Solution

36. Show that 22® + 5z% + 5z + 2 = 0 is a reciprocal equation of class

one.

° Watch Video Solution

37.slove the equation 42® — 13z? — 13z +4 =0

| e |


https://dl.doubtnut.com/l/_LELChgi2PKra
https://dl.doubtnut.com/l/_l5NQ7UK6MIng
https://dl.doubtnut.com/l/_g2ecsuAeyEHq
https://dl.doubtnut.com/l/_TixWzauSfwFg

| & Watch Video Solution

38. Solve the equation 6z* — 352° + 6222 — 352 + 6 = 0.

o Watch Video Solution

39.s0lvez° — 52 +92° — 922 + 52 —1 =0

o Watch Video Solution

40. Solve the equation 6z° — 252° + 31z* — 3122 + 252 —6 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_TixWzauSfwFg
https://dl.doubtnut.com/l/_cT37MUk1tnQR
https://dl.doubtnut.com/l/_Axr1UBBrleu7
https://dl.doubtnut.com/l/_iovg9xnV0RTF

1. Form polynomial equations of the lowest degree , with roots as given
below .
Hint : Equation having roots «, 8, vis (z — a)(z — B)(x —v) =0

1,-1,3

° Watch Video Solution

2. Form polynomial equations of the lowest degree , with roots as given
below
“Ipm 2i, 4,2

Hint : In an equation Imaginary roots occur in conjugate pairs.

° Watch Video Solution

3. Form polynomial equations of the lowest degree , with roots as given
below

24 /3,142

| o WMl L \ 2 dan C Al iklmn



https://dl.doubtnut.com/l/_aprqa3YNnLGq
https://dl.doubtnut.com/l/_cDiyJoK1W7dH
https://dl.doubtnut.com/l/_R3Ho8xpUQuP2

L —rvvatlil VIUCU JUViuuivil )

4. Form polynomial equations of the lowest degree , with roots as given

below 0,0,2,,2,-2,-2

° Watch Video Solution

5. Form polynomial equations of the lowest degree , with roots as given
below

14++/3,2,5

° Watch Video Solution

6. Form polynomial equations of the lowest degree , with roots as given
below

0,1, —

5
2’ 2

° Watch Video Solution



https://dl.doubtnut.com/l/_R3Ho8xpUQuP2
https://dl.doubtnut.com/l/_1u674sz0K24V
https://dl.doubtnut.com/l/_4vX6JqxTQu9H
https://dl.doubtnut.com/l/_sh5CZ1Gn5NOV
https://dl.doubtnut.com/l/_mM80CYSgTJXo

7.1f a, B, v are the roots of

4a® — 6% 4+ Tz + 3 = 0 then find the value of a8 + By + yo.

o Watch Video Solution

8.if 1,1, are the roots of

22 — x2 +92 —4 = 0 then find ..

o Watch Video Solution

9.If -1,2 and « are the roots of

223 + 22 — Tz — 6 = 0, then find «

o Watch Video Solution

10.1f 1,-2 and 3 are roots of

> — 222 +ax +6 = 0,thenfinda.

Y.


https://dl.doubtnut.com/l/_mM80CYSgTJXo
https://dl.doubtnut.com/l/_763F1jrEPPQO
https://dl.doubtnut.com/l/_iIGEccuADVFy
https://dl.doubtnut.com/l/_tz8Bmd4ZZl8J
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1. If the product of the roots of

4z% + 1622 — 9za = 0is 9 ,then find a.

° Watch Video Solution

12. Find the values of sy, ss, s3 and s4 for each of the following
equations .

z* — 162° + 8622 — 176z + 105 = 0

4
Hint:s; = E Qa;, Sy = E ;L S3 = g Q0O S = A
i=1

1<i<j<4 I1<i<j<k<d

° Watch Video Solution

13. Find the values of si, sy, s3 and s, for each of the following

equations .


https://dl.doubtnut.com/l/_tz8Bmd4ZZl8J
https://dl.doubtnut.com/l/_jaV3s0evE6WO
https://dl.doubtnut.com/l/_faQGfFZd1q3a
https://dl.doubtnut.com/l/_GQdLMZgOHnAt

8zt — 22 — 2722 + 62 +9=0

4
Hint:slzz:ai,szz Z aiai,33auml§i§j§k§4>aiaj
r=1

I<i<j<4

o Watch Video Solution

14. If a, B and 1 are the roots of =3 — 2z%> — 5z +6 = 0, then find

a and S

o Watch Video Solution

15.If a, B and +y are the roots of

% — 222 + 3z — 4 = 0, then find

() Y a?B%(i5) Y af(a + B)

o Watch Video Solution

16.1f o, 8 and ~ are the roots of x> + pz® + gx + r = 0 then find the

following :


https://dl.doubtnut.com/l/_GQdLMZgOHnAt
https://dl.doubtnut.com/l/_atqjIy1Yggor
https://dl.doubtnut.com/l/_7Q2p2AlqbMiE
https://dl.doubtnut.com/l/_jkxAFf6k9uVe

o+ B+
(iaxB+B8xXy+v7 X«

(i) x B x vy

° Watch Video Solution

17.If a, B and ~ are the roots of 2 + pz? + gz + r = 0 then find the

1
following : Z 25
a

° Watch Video Solution

18.1f o, 8 and ~ are the roots of x> + pz® + gz + r = 0 then find the
2 2 2 2 2 2 2 2
+ + + +
B+ Ly te’ e B B+

following :
By v af By

o Watch Video Solution

19.1f o, 8 and ~ are the roots of 2 + pa? + gz + r = 0 then find the

following: (8 + v — 3a)(y + a — 38)(a + B — 3v)



https://dl.doubtnut.com/l/_jkxAFf6k9uVe
https://dl.doubtnut.com/l/_bSwoMMWeD0aP
https://dl.doubtnut.com/l/_B9kRcSnkMCm3
https://dl.doubtnut.com/l/_UGJzzABGL2lw

° Watch Video Solution

20. If o, B and 7 are the roots of z® + pz? 4+ gz 4+ r = 0 then find the

following : Za?’ﬂ?’

° Watch Video Solution

21. If o, B, -y are the roots of
23 — 6x2 + 11z —6 =0 then find the equation whose roots are

a® + 8% 82+ 4497 + o

° Watch Video Solution

22.If a, B, 7y are the roots of

23 —7r +6=0 then find the equation whose roots are

(a—B8)%(B-7)7%(v— )’

° Watch Video Solution



https://dl.doubtnut.com/l/_UGJzzABGL2lw
https://dl.doubtnut.com/l/_4eTzfM2ALh08
https://dl.doubtnut.com/l/_QhhBGTGh1lWS
https://dl.doubtnut.com/l/_doyMCkVobTEa

23.If o, 3, 7y are the roots of 2 — 3az + b =0

prove that Z (@ = B)(a—7) = 9a.

° Watch Video Solution

1. Solve z® — 322 — 162 + 48 = 0, given that tha sum of two roots is

Z€ero .

o Watch Video Solution

2. Find the condition that z® — pa® + gz —r = 0 may have sum of its

two roots is zero .

o Watch Video Solution



https://dl.doubtnut.com/l/_doyMCkVobTEa
https://dl.doubtnut.com/l/_yrgy6FHEjpDL
https://dl.doubtnut.com/l/_T00Ky0MxjmC0
https://dl.doubtnut.com/l/_zotEPQxA0x0i

3. Given that roots of 23 + 3pz? + 3gz + r = Oarein

(i)A.P., show that 2p3 —3gp+7r=0

° Watch Video Solution

4. Given that roots of 2° + 3pz? + 3¢z +r = O arein

G.P. show that p’r = ¢

° Watch Video Solution

5. Given that roots of % + 3pz® + 3gz + 7 = 0

(iii) H.P ,. Show that 2¢° = r(3pg — r)

° Watch Video Solution

6. Find the condition that z* — pz? + gz — r = 0 may have the roots in

G.P.



https://dl.doubtnut.com/l/_NAl9RTFMK98y
https://dl.doubtnut.com/l/_t5V9TiAUTf24
https://dl.doubtnut.com/l/_mfdzHJlulDHD
https://dl.doubtnut.com/l/_ECNLH3EZhLUH

| & Watch Video Solution I

7.50olve 923 — 1522 + 72 — 1 =0 , given that two of its roots are equal .

o Watch Video Solution

8. Given that one root of 2z® + 322 — 82 + 3 = 0 is double of another

root , find the roots of the equation.

o Watch Video Solution

9.Solve 3 — 922 + 142 + 24 — 0 , given that two of the roots are in the

ratio 3:2.

o Watch Video Solution



https://dl.doubtnut.com/l/_ECNLH3EZhLUH
https://dl.doubtnut.com/l/_sk5EO9NPTBsl
https://dl.doubtnut.com/l/_RuJVXkpRk4kL
https://dl.doubtnut.com/l/_oxHZYnhug61u

10. Solve the following equation ,given that the root of each are in AP.

(i) 823 — 36¢> — 18z + 81 =0

° Watch Video Solution

11. Solve the following equation ,given that the root of each are in AP.

(i)z® — 322 — 62 +8 =10

° Watch Video Solution

12. solve the following equations , given that the roots of each are in G.P

(i) 3z — 2622 + 520 — 24 =0

° Watch Video Solution

13. solve the following equations , given that the roots of each are in G.P

(ii) 54> — 39z% — 262 + 16 = 0

| e


https://dl.doubtnut.com/l/_wLnDoCMnjmxe
https://dl.doubtnut.com/l/_2khnQMCwoag7
https://dl.doubtnut.com/l/_VHLjAnuGGNVu
https://dl.doubtnut.com/l/_8roH3sBvFVTJ

| & Watch Video Solution

14. Solve the following equations , given that the roots of each are in H.P.

(i)6z> — 1122 + 62 —1=10

° Watch Video Solution

15. Solve the following equations , given that the roots of each are in HP.

(i) 1523 — 2322 + 92 — 1 =0

° Watch Video Solution

16. solve the following equation , given that they have multiple roots .

2t — 623 + 1322 — 242 +36 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_8roH3sBvFVTJ
https://dl.doubtnut.com/l/_oI7MrXpkB3Ig
https://dl.doubtnut.com/l/_RslvdHoyw3Gi
https://dl.doubtnut.com/l/_Oyv5N1TfjKg2

17. solve the following equation , given that they have multiple roots .

3zt + 162% + 2422 — 16 = 0

° Watch Video Solution

18. Solve z* + z3 — 1622 — 4 + 48 = 0 that the product of the two

rootsis 6.

° Watch Video Solution

19. solve 8z* — 2z — 27x% 4 6z + 9 = 0 given that two roots have the

same absolute value , but are oppsite in signs .

° Watch Video Solution

20. Solve 18z° + 81z + 121z + 60 = 0 given that one roots is equal to

half the sum of the remainging roots .

| e |


https://dl.doubtnut.com/l/_kdKX4wbHWT5P
https://dl.doubtnut.com/l/_VYWDCWy7mkib
https://dl.doubtnut.com/l/_ZAaOdN7DZsLL
https://dl.doubtnut.com/l/_6d647akTzRDo

| &J Watch Video Solution I

21. Find the condition in order that the equation
4 3 2 —
ax” + 4bx” + 6cz” +4dxr +e =0

may have a pair of equal roots .

o Watch Video Solution

22. Show that z® — 523 4+ 522 — 1 = 0 has three equal roots and find

this roots .

o Watch Video Solution

23. Find the repeated roots of z° — 3z% — 5z® + 2722 — 322 + 12 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_6d647akTzRDo
https://dl.doubtnut.com/l/_JX5xBPQ8562x
https://dl.doubtnut.com/l/_SxJUqLoUlVyM
https://dl.doubtnut.com/l/_qrmw9JR0R98Q

24. Solve the equation 8z — 202 + 62 + 9 = 0 given that the equation

has multiple roots .

o Watch Video Solution

1. From the polynomial equation whose roots are

2+3i,2—3,1+4,1—1

° Watch Video Solution

2. From the polynomial equation whose roots are 3,2,1+l,1-l

° Watch Video Solution

3. From the polynomial equation whose roots are 1+1,1-,-1+1,-1-I



https://dl.doubtnut.com/l/_pPJuYOerX5yR
https://dl.doubtnut.com/l/_ddaVuXEOV0tG
https://dl.doubtnut.com/l/_y12nXalPWlAN
https://dl.doubtnut.com/l/_Ut6vhMP4GoJo

| ° Watch Video Solution

4. From the polynomial equation whose roots are 1+1,1-1,1+1,1-I

° Watch Video Solution

5. Form the polynomial equation with rational coefficients whose roots

ared,/3,5 + 2i

° Watch Video Solution

6. Form the polynomial equation with rational coefficients whose roots

are 1+5i,5-|

° Watch Video Solution



https://dl.doubtnut.com/l/_Ut6vhMP4GoJo
https://dl.doubtnut.com/l/_YqKXopf57wBE
https://dl.doubtnut.com/l/_EFx2O9rbyHqR
https://dl.doubtnut.com/l/_mdLnA19YHOxR

7. Form the polynomial equation with rational coefficients whose roots

arei — /5

° Watch Video Solution

8. Form the polynomial equation with rational coefficients whose roots

are — /3 + i4/2

° Watch Video Solution

9.Solve the equation z* + 2% — 522 4 62 + 2 = 0 given that 1+l is one

of its roots .

° Watch Video Solution

10. solve the equation 32® — 42> + x + 88 = 0 which has 2 — /— 7 as a

root.

| e |


https://dl.doubtnut.com/l/_WKxixjt8iCmH
https://dl.doubtnut.com/l/_ZmUYfVnMPeso
https://dl.doubtnut.com/l/_4yUx176gjwHu
https://dl.doubtnut.com/l/_yGt2sS4dT0i2

| & Watch Video Solution

M.Solve z* — 422 + 82 + 35 =10 ,given that 2 + i\/§ is a root.

o Watch Video Solution

12. Solve the equation z* — 6z + 11z? — 10z + 2 =0 ,given that

2 + /3 is a root of the equation.

o Watch Video Solution

13. Given that —2+4+-—7 is a root of the

z? + 222 — 16z + 77 = 0 solve it completely .

equation

o Watch Video Solution



https://dl.doubtnut.com/l/_yGt2sS4dT0i2
https://dl.doubtnut.com/l/_PhURFGFcCLlF
https://dl.doubtnut.com/l/_vvQZMe37872Y
https://dl.doubtnut.com/l/_mXl4yirfXcYS

14. Solve the equations

z* + 22% — 162 — 222 + 7 = 0 given that 2 — /3 is a root of it .

° Watch Video Solution

15. Solve the equation , 3z — 4z? — 4223 + 562% + 27z — 36 = 0 given

that /2 + /5 is one of its roots .

° Watch Video Solution

16. Solve the equation z* — 923 + 27z? — 292 + 6 = 0 given that one

root of itis 2 — /3

° Watch Video Solution

17. Show that equation

a? b2 el k2
— + — + -+ e + —— = —m
T —a z—b T —cC z—k



https://dl.doubtnut.com/l/_n0CUiX7hoIZc
https://dl.doubtnut.com/l/_KKRvBWGPfOKJ
https://dl.doubtnut.com/l/_tkFuqmwhCPnW
https://dl.doubtnut.com/l/_ocNHfCh6kLSC

Where a b,c....k, ma',b',c....k' are all real numbers , cannot have a non

real root .

° View Text Solution

1. Find the algebraic equation whose roots are 2 times the roots of

2> — 22 + 32 — 222 +42 +3=0

° Watch Video Solution

2. Find the transformed equation whose roots are the negative of the

roots of z* + 523 + 11z +3 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_ocNHfCh6kLSC
https://dl.doubtnut.com/l/_BR7my1gN2NI3
https://dl.doubtnut.com/l/_YAzW1aWfpZpB

3. Find the transformed equation whose roots aren the negatives of the

rootsofz” +32° +2° — 2>+ Tz +2=10

° Watch Video Solution

4. Find the polynomial equation whose roots are the reciprocals of the

rootsof z* — 323 + 722 + 52 — 2 =0

° Watch Video Solution

5. Find the polynomial equation whose roots are the reciprocals of the

rootsof 2° + 11z* + 2% + 422 + 13z + 6 = 0

° Watch Video Solution

6. Find the polynomial equation whose roots are the squares of the roots

ofe* + 23+ 222 +2+1=0

| e |


https://dl.doubtnut.com/l/_dZ5Ts9c2qIOL
https://dl.doubtnut.com/l/_qUzzNoBv6Du5
https://dl.doubtnut.com/l/_ExSCwCTKr3ey
https://dl.doubtnut.com/l/_xzh6UfftxKsR

| & Watch Video Solution I

7. Form the polynomial equation whose roots are the squares of the

rootsof 22 + 3z — 7z + 6 = 0

° Watch Video Solution

8. Form the polynomial equation whose roots are cubes of the roots of

22 +3224+2=0

° Watch Video Solution

9. Find the polynomial equation whose roots are the translates of those

of the equation z* — 5z + 72% — 17z + 11 = 0 by -2.

° Watch Video Solution



https://dl.doubtnut.com/l/_xzh6UfftxKsR
https://dl.doubtnut.com/l/_wnA7EfLiu1ne
https://dl.doubtnut.com/l/_AuVmOdRbVq4T
https://dl.doubtnut.com/l/_SqXmg6bp42LX

10. Find the polynomial equation whose roots are the translates of those

of £° — 4z? + 32 =42 + 6 = 0 by -3.

° Watch Video Solution

1. Find the polynomial equation whose roots are the translates of the

roots of the equation . z* — z® — 102? + 4z +24 = 0by 2.

° Watch Video Solution

12. Find the polynomial equation whose roots are the translates of the

equation 3z° — 52° + 7 = O by 4.

° Watch Video Solution

13. Transform eanc of the following equations into ones in which of the

coefficients of the second highest power of x is zero and also find their


https://dl.doubtnut.com/l/_MZgU2EpBwoEI
https://dl.doubtnut.com/l/_1WvWMJaE05ue
https://dl.doubtnut.com/l/_S9D1eKa6IM53
https://dl.doubtnut.com/l/_GVe2jM8X6a9o

transformed equations . z® — 62% + 10z — 3 = 0

o Watch Video Solution

14. Transform eanc of the following equations into ones in which of the
coefficients of the second highest power of x is zero and also find their

transformed equations z* 4 4z® 4 22% — 42 — 2 =10

o Watch Video Solution

15. Transform eanc of the following equations into ones in which of the
coefficients of the second highest power of x is zero and also find their

transformed equations z* — 62 + 42 —7 =0

o Watch Video Solution

16. Transform eanc of the following equations into ones in which of the

coefficients of the second highest power of x is zero and also find their


https://dl.doubtnut.com/l/_GVe2jM8X6a9o
https://dl.doubtnut.com/l/_jJxlrtHzLYbP
https://dl.doubtnut.com/l/_fLofW7KVTsQA
https://dl.doubtnut.com/l/_HipgD8YWO6uX

transformed equations 2 4 6z% + 4z +4 =0

° Watch Video Solution

17. Transform each of the following equations into ones in which the
coefficients of the third highest power of x is zero

2t 1+ 22% — 1222+ 22 —1=0

° Watch Video Solution

18. Transform each of the following equations into ones in which the
coefficients of the third highest power of x is zero

2 +222+z2+1=0

° Watch Video Solution

19. Solve the following equations . z* — 1023 + 26z? — 10z +1 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_HipgD8YWO6uX
https://dl.doubtnut.com/l/_OwvIl6Tww0gA
https://dl.doubtnut.com/l/_CbCrgOHL1UtY
https://dl.doubtnut.com/l/_mb7do9S1xIRG

20. Solve the following equations 2z° + z* — 122> — 122> + 22 =0

° Watch Video Solution

Dam Sure Vsaq 2 Marks

1. Form polynomial equation of the lowest degree with roots 1,-1,3

° Watch Video Solution

2.1f 1,1, « are the roots of 23 — 62% + 92 — 4 = Othen a =

° Watch Video Solution

3.1f —1, 2, a are the roots of the equation 22% + 22 — Tz — 6 = 0, then

o is



https://dl.doubtnut.com/l/_mb7do9S1xIRG
https://dl.doubtnut.com/l/_CinKMkEcLE6Q
https://dl.doubtnut.com/l/_jNgUZ2BLOZhA
https://dl.doubtnut.com/l/_yN3LuWD0cEZs
https://dl.doubtnut.com/l/_w2RL7rkGfZgj

| o Watch Video Solution

4.1f 1,-2 and 3 are roots of

2> — 222 + ax +6 = 0,thenfinda.

° Watch Video Solution

5.If the product of the roots of

4x3+16:132—9w—a:Oi59,thenﬁnda.

° Watch Video Solution

6. Find the transformed equation whose roots are the negative of the

roots of z* + 523 + 11z +3 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_w2RL7rkGfZgj
https://dl.doubtnut.com/l/_aMVuKUnRZFh8
https://dl.doubtnut.com/l/_gY9CmCuXVsjC
https://dl.doubtnut.com/l/_u7pAjvmY2RtF

7. Form the polynamial equation of 3 whose roots are 2,3 and 6.

o Watch Video Solution

8. Let a, B, v be the roots of 23 + pz® + gz + r = 0then find Za?’

o Watch Video Solution

Dam Sure Saq 4 Marks

1. If a,8 and 1 are the roots of z* — 222 — 5z +6 =0 , then find

a and S

° Watch Video Solution

2.If a, B and +y are the roots of

z® — 222 + 3z — 4 = 0, then find


https://dl.doubtnut.com/l/_uzRvNf0yvxXO
https://dl.doubtnut.com/l/_OFcbeVxNRo73
https://dl.doubtnut.com/l/_rW3Lvc10Mdvp
https://dl.doubtnut.com/l/_FVSvXLy4pDDz

() Y a?B%(ii) Y af(a + B)

° Watch Video Solution

3. Solve the 23 — 322 — 62 + 8 = 0 equation , given that the roots of

each arein AP.

° Watch Video Solution

4.5olve z* — 42> + 8z + 35 =0 ,given that 2 + 73\/5 is a root.

° Watch Video Solution

5. Find the polynomial equation whose roots are the reciprocals of the

rootsof z* — 323 + 722 + 52 — 2 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_FVSvXLy4pDDz
https://dl.doubtnut.com/l/_yyVzR3wOdbSZ
https://dl.doubtnut.com/l/_YjfGQbZaFrv9
https://dl.doubtnut.com/l/_vo2dQEsmTf25

Dam Sure Laq 7 Marks

1.Solve the 823 — 3622 — 18z + 81 = 0 equation, given that the roots of

each are in A.P.

° Watch Video Solution

2.Solve the 323 — 262% + 52z — 24 = 0 equations , given that the roots

of each are in G.P.

° Watch Video Solution

3. Solve 1823 + 8122 + 121z + 60 = 0 given that one roots is equal to

half the sum of the remainging roots .

° Watch Video Solution

4.Solve the equation 2z° + z* — 122% — 1222 + 2 +2=0


https://dl.doubtnut.com/l/_ZUkmXpFsyIlQ
https://dl.doubtnut.com/l/_Mw4mQksZIrKH
https://dl.doubtnut.com/l/_Fte4cOgJKilN
https://dl.doubtnut.com/l/_ljnAJRrNXU28

o Watch Video Solution



https://dl.doubtnut.com/l/_ljnAJRrNXU28

